

## SOME PROPERTIES OF SMOOTH IDEALS

A. A. RAMADAN, M. A. ABDEL-SATTAR

*Department of Mathematics, Faculty of Science, Cairo University, Beni-Suef, Egypt*

AND

YONG CHAN KIM

*Department of Mathematics, Kangnung National University, Kangnung,  
Kangwondo 210 702, Korea*

*(Received 18 September 2001; accepted 5 July 2002)*

We introduce the concept of smooth ideals and smooth ideal bases. We investigate the images and preimages of smooth ideals. Furthermore, we define the product smooth ideals.

**Key Words :** Smooth Ideal; Smooth Ideal Base

### 1. INTRODUCTION

The concept of fuzzy sets was introduced by Zadeh in classical paper<sup>10</sup> and thereafter, the paper of Chang<sup>3</sup> paved the way for the subsequent development of numerous fuzzy topological concepts. One of the recent directions is the study of  $L$ -fuzzy filter<sup>4</sup> and generalised filters<sup>1 & 2</sup> and its applications. Ramadan *et al.*<sup>9</sup> introduced the smooth ideal which is the dual of a smooth filter.

In this paper, we investigate the images and preimages of smooth ideals and smooth ideal bases. From the existence of preimages of smooth ideals, we can define the product smooth ideals.

### 2. PRELIMINARIES

For the sake of fixing notation, we recall some basic definitions. We shall let  $X$  be a nonempty set and  $I$  be the closed unit interval. A fuzzy set in  $X$  is an element of the set  $I^X$  of all functions from the set  $X$  into  $I$ . The fuzzy set which assigns to each element in  $X$  the value  $\alpha$ ,  $0 \leq \alpha \leq 1$ , is denoted by  $\tilde{\alpha}$ . We denote the characteristic function of a subset  $A$  of  $X$  by  $1_A$ .

*Definition 1.1* — If  $X$  is a set, then an ideal on  $X$  is a nonempty  $D^* \subset 2^X$  satisfying the following conditions :

$$(1) X \notin D^*,$$

(2) if  $A, B \in D^*$ , then  $A \cup B \in D^*$ ,

(3) if  $B \in D^*$  and  $A \subset B$ , then  $A \in D^*$ , that is,  $D^*$  is a lower set.

*Definition 1.2* — If  $X$  is a set, then a preideal on  $X$  is a nonempty  $\mathcal{D} \subset I^X$  satisfying the following conditions :

(P1)  $\tilde{1} \notin \mathcal{D}$ ,

(P2) if  $\lambda, \mu \in \mathcal{D}$ , then  $\lambda \vee \mu \in \mathcal{D}$ ,

(P3) if  $\mu \in \mathcal{D}$  and  $\lambda \leq \mu$ , then  $\lambda \in \mathcal{D}$ .

*Definition 1.3* — A nonempty subset  $\mathcal{D}$  is called a *preideal base* on  $X$  if it satisfies the following conditions :

(PB1)  $\tilde{1} \notin \mathcal{D}$

(PB2) if  $\mu_1, \mu_2 \in \mathcal{D}$ , there exists  $\mu_3 \in \mathcal{D}$  such that  $\mu_1 \vee \mu_2 \leq \mu_3$ .

## 2. THE PREIMAGES OF SMOOTH IDEALS

*Definition 2.1*<sup>9</sup> — A nonzero function  $I : I^X \rightarrow I$  is called a *smooth ideal on  $X$*  if it satisfies the following conditions :

(S1)  $I(\tilde{1}) = 0$ .

(S2)  $I(\lambda \vee \mu) \geq I(\lambda) \wedge I(\mu)$ , for  $\lambda, \mu \in I^X$

(S3) If  $\lambda \geq \mu$ ,  $I(\lambda) \leq I(\mu)$ .

If  $I_1$  and  $I_2$  are smooth ideals on  $X$ , we say  $I_1$  is *finer* than  $I_2$  (or  $I_2$  is *coarser* than  $I_1$ ), denoted by  $I_2 \leq I_1$ , iff  $I_2(\lambda) \leq I_1(\lambda)$  for all  $\lambda \in I^X$ .

*Notation 2.2* — Let  $\mathcal{B} : I^X \rightarrow I$  be a function and  $\lambda \in X$ . We denote

$$\langle \mathcal{B} \rangle(\lambda) = \sup_{\lambda \leq \mu} \mathcal{B}(\mu).$$

*Definition 2.3* — A nonzero function  $\mathcal{B} : I^X \rightarrow I$  is called a *smooth ideal base* on  $X$  if it satisfies the following conditions :

(SB1)  $\mathcal{B}(\tilde{1}) = 0$ .

(SB2)  $\langle \mathcal{B}(\lambda \vee \mu) \rangle \geq \mathcal{B}(\lambda) \wedge \mathcal{B}(\mu)$ , for  $\lambda, \mu \in I^X$ .

*Remark 2.4* : (1) A smooth ideal is a smooth ideal base.

(2) If a function  $I: I^X \rightarrow I$  is a smooth ideal (base), for  $r \in [0, 1)$ ,  $I^r = \{ \mu \in I^X \mid I(\mu) > r \}$  is a preideal (base).

**Theorem 2.5** — *If a function  $\mathcal{B}: I^X \rightarrow I$  is a smooth ideal base, then  $\langle \mathcal{B} \rangle$  is the coarsest smooth ideal satisfying  $\mathcal{B}(\lambda) \leq \langle \mathcal{B} \rangle(\lambda)$  for each  $\lambda \in I^X$ .*

PROOF : The conditions (S1) and (S3) are easily checked. Suppose there exist  $\lambda, \mu \in I^X$  and  $t \in (0, 1)$  such that

$$\langle \mathcal{B} \rangle(\lambda) \wedge \langle \mathcal{B} \rangle(\mu) > t > \langle \mathcal{B} \rangle(\lambda \vee \mu). \quad \dots (A)$$

Since  $\langle \mathcal{B} \rangle(\lambda) > t$  and  $\langle \mathcal{B} \rangle(\mu) > t$ , there exist  $\lambda_1, \mu_1 \in I^X$  with  $\lambda \leq \lambda_1, \mu \leq \mu_1$  such that

$$\langle \mathcal{B} \rangle(\lambda) \wedge \langle \mathcal{B} \rangle(\mu) \geq \mathcal{B}(\lambda_1) \wedge \mathcal{B}(\mu_1) > t.$$

Since  $\mathcal{B}$  is a smooth ideal base,

$$\langle \mathcal{B} \rangle(\lambda_1 \vee \mu_1) \geq \mathcal{B}(\lambda_1) \wedge \mathcal{B}(\mu_1) > t.$$

Since  $\lambda \vee \mu \leq \lambda_1 \vee \mu_1$

$$\langle \mathcal{B} \rangle(\lambda \vee \mu) \geq \langle \mathcal{B} \rangle(\lambda_1 \vee \mu_1) > t.$$

It is a contradiction for the eq. (A). Thus, for every  $\lambda, \mu \in I^X$ ,

$$\langle \mathcal{B} \rangle(\lambda) \wedge \langle \mathcal{B} \rangle(\mu) \leq \langle \mathcal{B} \rangle(\lambda \vee \mu).$$

Hence,  $\langle \mathcal{B} \rangle$  is a smooth ideal.

If  $I$  is smooth ideal satisfying  $\mathcal{B}(\lambda) \leq I(\lambda)$  for each  $\lambda \in I^X$ , we will show that  $\langle \mathcal{B} \rangle \leq I$ .

Suppose there exist  $\mu \in I^X$  and  $r \in (0, 1)$  such that

$$\langle \mathcal{B} \rangle(\mu) > r > I(\mu). \quad \dots (B)$$

Since  $\langle \mathcal{B} \rangle(\mu) > r$ , there exists  $\mu_1$  with  $\mu \leq \mu_1$  such that

$$\langle \mathcal{B} \rangle(\mu) \geq \mathcal{B}(\mu_1) > r.$$

On the other hand, since  $\mathcal{B}(\mu_1) \leq I(\mu_1)$ , we have

$$I(\mu) \geq I(\mu_1) \geq \mathcal{B}(\mu_1) > r.$$

It is a contradiction for the eq. (B). Hence  $\langle \mathcal{B} \rangle \leq I$ .

**Definition 2.6** — *Let  $I$  and  $I^*$  be two smooth ideals on  $X$  and  $Y$ , respectively, and  $f: X \rightarrow Y$  be a function.*

(1)  $f$  is said to be a *smooth ideal map* (for short, I-map) iff  $I^*(\mu) \leq I(f^{-1}(\mu))$  for each  $\mu \in I^Y$ .

(2)  $f$  is said to be a *smooth ideal preserving map* (for short, I-preserving map) iff  $I(\lambda) \leq I^*(f(\lambda))$  for each  $\lambda \in I^X$ .

Naturally, the composition of I-maps (resp. I-preserving maps) is an I-map (resp. I-preserving map).

**Theorem 2.7** — *Let  $\mathcal{B}$  and  $\mathcal{B}^*$  be two smooth ideal bases on  $X$  and  $Y$ , respectively, and  $f: X \rightarrow Y$  be a function.*

(1)  $f: (X, \langle \mathcal{B} \rangle) \rightarrow (Y, \langle \mathcal{B}^* \rangle)$  is an I-map iff  $\mathcal{B}^*(\mu) \leq \langle \mathcal{B} \rangle(f^{-1}(\mu))$  for each  $\mu \in I^Y$ .

(2)  $f(X, \langle \mathcal{B} \rangle) \rightarrow (Y, \langle \mathcal{B}^* \rangle)$  is an I-preserving map iff  $\mathcal{B}(\lambda) \leq \langle \mathcal{B}^* \rangle(f(\lambda))$  for each  $\lambda \in I^X$

(3) If  $\mathcal{B}^*(\mu) \leq \mathcal{B}(f^{-1}(\mu))$  for each  $\mu \in I^Y$ , then  $f: (X, \langle \mathcal{B} \rangle) \rightarrow (Y, \langle \mathcal{B}^* \rangle)$  is a I-map.

(4) If  $\mathcal{B}(\lambda) \leq \mathcal{B}^*(f(\lambda))$  for each  $\lambda \in I^X$ , then  $f(X, \langle \mathcal{B} \rangle) \rightarrow (Y, \langle \mathcal{B}^* \rangle)$  is an I-preserving map.

PROOF : (1)  $(\Rightarrow)$  Since  $\mathcal{B}^*(\mu) \leq \langle \mathcal{B}^* \rangle(\mu)$  for each  $\mu \in I^Y$ , it is trivial.

$(\Leftarrow)$  Suppose there exist  $\mu \in I^Y$  and  $r \in (0, 1)$  such that

$$\langle \mathcal{B}^* \rangle(\mu) > r > \langle \mathcal{B} \rangle(f^{-1}(\mu)). \tag{C}$$

Since  $\langle \mathcal{B}^* \rangle(\mu) > r$ , there exists  $\mu_1$  with  $\mu \leq \mu_1$  such that

$$\langle \mathcal{B}^* \rangle(\mu) \geq \mathcal{B}^*(\mu_1) > r.$$

On the other hand, since  $\mathcal{B}^*(\mu_1) \leq \langle \mathcal{B} \rangle(f^{-1}(\mu_1))$  we have

$$\langle \mathcal{B} \rangle(f^{-1}(\mu)) \geq \langle \mathcal{B} \rangle(f^{-1}(\mu_1)) \geq \mathcal{B}^*(\mu_1) > r.$$

It is a contradiction for the eq. (C). Thus,  $\langle \mathcal{B}^* \rangle(\mu) \leq \langle \mathcal{B} \rangle(f^{-1}(\mu))$ , for each  $\mu \in I^Y$ .

(2), (3) and (4) are similarly proved.

**Example 2.8** — Let  $X = \{a, b, c, d\}$  be a set. We define two functions  $\mathcal{B}_1, \mathcal{B}_2: I^X \rightarrow I$  as follows :

$$\mathcal{B}_1(\lambda) = \begin{cases} 0.5, & \text{if } \lambda = \tilde{0}, \\ 0.4, & \text{if } \lambda \in \{1_{(a)}, 1_{(b)}, 1_{(a,b,c)}\}, \\ 0, & \text{otherwise.} \end{cases}$$

$$\mathcal{B}_2(\mu) = \begin{cases} 0.4, & \text{if } \mu = \tilde{0}, \\ 0.3, & \text{if } \mu \in \{1_{(a)}, 1_{(b)}, 1_{(a,b)}\}, \\ 0, & \text{otherwise.} \end{cases}$$

Since  $\langle \mathcal{B} \rangle(1_{(a)} \vee 1_{(b)}) = \mathcal{B}_1(1_{(a,b,c)}) = 0.4$ ,  $\mathcal{B}_1$  is a smooth base. Similarly,  $\mathcal{B}_2$  is a smooth base. We obtain

$$\langle \mathcal{B}_1 \rangle(\lambda) = \begin{cases} 0.5, & \text{if } \lambda = \tilde{0}, \\ 0.4, & \text{if } \tilde{0} < \lambda \leq 1_{(a,b,c)}, \\ 0, & \text{otherwise.} \end{cases}$$

$$\langle \mathcal{B}_2 \rangle(\mu) = \begin{cases} 0.4, & \text{if } \mu = \tilde{0}, \\ 0.3, & \text{if } \tilde{0} < \mu \leq 1_{(a,b)}, \\ 0, & \text{otherwise.} \end{cases}$$

Then  $id_X : (X, \langle \mathcal{B}_1 \rangle) \rightarrow (X, \langle \mathcal{B}_2 \rangle)$  be an  $I$ -map and  $id_X : (X, \langle \mathcal{B}_2 \rangle) \rightarrow (X, \langle \mathcal{B}_1 \rangle)$  is an  $I$ -preserving map. But  $0 = \mathcal{B}_1(1_{(a,b)}) < \mathcal{B}_2(1_{(a,b)}) = 0.3$ .

Hence, the converse of Theorem 2.7 (3-4) need not be true.

*Notation 2.9* — Let  $I$  be a smooth ideal on  $X$ . We denote

$$I^0 = \{ \lambda \in I^X \mid I(\lambda) > 0 \}.$$

**Theorem 2.10** — Let  $g_i : X \rightarrow X_i$  be a function, for each  $i \in \Gamma$ . Let  $\{ \mathcal{B}_i \}_{i \in \Gamma}$  a family of smooth ideal bases on  $X_i$  satisfying the following condition

(C) If  $v_i \in (\mathcal{B}_i)^0$  for all  $i \in \Gamma$ , then we have  $\bigvee_{i \in K} g_i^{-1}(v_i) \neq \tilde{1}$  for every finite subset  $K$  of  $\Gamma$ .

We define a function  $\bigvee_{i \in \Gamma} g_i^{-1}(\mathcal{B}_i) : I^X \rightarrow I$  as

$$\bigvee_{i \in \Gamma} g_i^{-1}(\mathcal{B}_i)(\lambda) = \begin{cases} \sup \{ \bigwedge_{i \in K} \mathcal{B}_i(v_i) \} & \text{if } \lambda = \bigvee_{i \in K} g_i^{-1}(v_i), v_i \in (\mathcal{B}_i)^0, \\ \tilde{0} & \text{if otherwise.} \end{cases}$$

where the supremum is taken for every finite subset  $K$  of  $\Gamma$  such that  $\lambda = \bigvee_{i \in K} g_i^{-1}(\mu_i)$ . Let  $\mathcal{B} = \bigvee_{i \in \Gamma} g_i^{-1}(\mathcal{B}_i)$  be given. Then :

(1)  $\mathcal{B}$  is a smooth ideal base on  $X$

(2)  $\langle \mathcal{B} \rangle$  is the coarsest smooth ideal on  $X$  for which each function  $g_i : (X, \langle \mathcal{B} \rangle) \rightarrow (X_i, \langle \mathcal{B}_i \rangle)$  is an  $I$ -map.

(3) A map  $g : (Y, \Gamma) \rightarrow (X, \langle \mathcal{B} \rangle)$  is an  $I$ -map iff for each  $i \in \Gamma$ ,  $g_i \circ g : (Y, \Gamma) \rightarrow (X_i, \langle \mathcal{B}_i \rangle)$  is an  $I$ -map.

$$(4) \langle \bigvee_{i \in \Gamma} g_i^{-1}(\mathcal{B}_i) \rangle = \langle \bigvee_{i \in \Gamma} g_i^{-1}(\langle \mathcal{B}_i \rangle) \rangle.$$

PROOF : (1) Let  $\mathcal{B} = \bigvee_{i \in \Gamma} g_i^{-1}(\mathcal{B}_i)$ . We show that  $\mathcal{B}$  is a smooth ideal base.

Since  $\mathcal{B}_i$  is nonzero function, there exists  $\mu_i \in (\mathcal{B}_i)^0$  such that

$$\mathcal{B}(g_i^{-1}(\mu_i)) \geq \mathcal{B}_i(\mu_i) > 0.$$

Thus,  $\mathcal{B}$  is nonzero function.

(SB1) It is trivial that  $\mathcal{B}(\bar{1}) = 0$ .

(SB2) Suppose there exist  $\lambda_1, \lambda_2 \in I^X$  and  $r \in (0, 1)$  such that

$$\langle \mathcal{B}(\lambda_1 \vee \lambda_2) \rangle < r < \mathcal{B}(\lambda_1) \wedge \mathcal{B}(\lambda_2). \tag{D}$$

Since  $\mathcal{B}(\lambda_1) > r$  and  $\mathcal{B}(\lambda_2) > r$ , by definition of  $\mathcal{B}$ , there exist two finite subsets  $K$  and  $J$  of  $\Gamma$  with  $\lambda_1 = \bigvee_{k \in K} g_k^{-1}(v_k)$  and  $\lambda_2 = \bigvee_{j \in J} g_j^{-1}(\mu_j)$  such that

$$\mathcal{B}(\lambda_1) \geq \bigwedge_{k \in K} \mathcal{B}_k(v_k) > r,$$

$$\mathcal{B}(\lambda_2) \geq \bigwedge_{j \in J} \mathcal{B}_j(\mu_j) > r.$$

Put  $m \in K \cup J$  such that

$$\rho_m = \begin{cases} v_m & \text{if } m \in K - (K \wedge J), \\ \mu_m & \text{if } m \in J - (K \wedge J), \\ v_m \vee \mu_m & \text{if } m \in K \wedge J. \end{cases}$$

For each  $m \in K \wedge J$ , since  $\mathcal{B}_m(v_m) > r$  and  $\mathcal{B}_m(\mu_m) > r$ , we have

$$\langle \mathcal{B}_m \rangle(v_m \vee \mu_m) \geq \mathcal{B}_m(v_m) \wedge \mathcal{B}_m(\mu_m) > r.$$

From the definition of  $\langle \mathcal{B}_m \rangle$ , there exists  $\omega_m \in I^X$  with  $\omega_m \geq v_m \vee \mu_m$  such that

$$\langle \mathcal{B}_m \rangle(v_m \vee \mu_m) \geq \mathcal{B}_m(\omega_m) > r. \tag{E}$$

Since

$$\begin{aligned} \lambda_1 \vee \lambda_2 &= (\vee_{k \in K} g_k^{-1}(v_k)) \vee (\vee_{j \in J} g_j^{-1}(\mu_j)) \\ &= \vee_{m \in (K \cup J)} g_m^{-1}(\rho_m) \\ &\leq (\vee_{m \in (K \cup J) - (K \cap J)} g_m^{-1}(\rho_m)) \vee (\vee_{m \in (K \cap J)} g_m^{-1}(\omega_m)), \end{aligned}$$

there exists a finite index  $K \cup J$  such that

$$\begin{aligned} \langle \mathcal{B} \rangle (\lambda_1 \vee \lambda_2) &\geq (\wedge_{m \in (K \cup J) - (K \cap J)} \mathcal{B}_m(\rho_m)) \wedge (\wedge_{m \in (K \cap J)} \mathcal{B}_m(\omega_m)) \\ &\geq (\wedge_{m \in (K \cup J) - (K \cap J)} \mathcal{B}_m(\rho_m)) \wedge r \text{ (by (E))} \\ &> r. \end{aligned}$$

It is a contradiction for the eq. (D). Hence,  $\langle \mathcal{B} \rangle (\lambda_1 \vee \lambda_2) \geq \mathcal{B}(\lambda_1) \wedge \mathcal{B}(\lambda_2)$ , for all  $\lambda_1, \lambda_2 \in I^X$ .

(2) From Theorem 2.7(3), we only show that  $\mathcal{B}(g_i^{-1}(\lambda_i)) \geq \mathcal{B}_i(\lambda_i)$  for each  $i \in \Gamma$  from the following :

If  $\mathcal{B}_i(\lambda_i) = 0$ , it is trivial.

If  $\mathcal{B}_i(\lambda_i) > 0$ , for a one family  $\{\lambda_i \in \mathcal{B}_i^0\}$ , we have  $\mathcal{B}(g_i^{-1}(\lambda_i)) \geq \mathcal{B}_i(\lambda_i)$ .

Let  $I(g_i^{-1}(\lambda_i)) \geq \langle \mathcal{B}_i \rangle (\lambda_i)$  for each  $i \in \Gamma$ . Suppose there exist  $\lambda \in I^X$  and  $r \in (0, 1)$  such that

$$\langle \mathcal{B} \rangle (\lambda) > r > I(\lambda). \tag{F}$$

Since  $\langle \mathcal{B} \rangle (\lambda) > r$ , by definition of  $\langle \mathcal{B} \rangle$ , there exists a finite subset  $K$  of  $\Gamma$  with  $\lambda \leq \vee_{k \in K} g_k^{-1}(v_k)$  such that

$$\langle \mathcal{B} \rangle (\lambda) \geq \wedge_{k \in K} \mathcal{B}_k(v_k) > r.$$

On the other hand, since  $I(g_k^{-1}(v_k)) \geq \langle \mathcal{B}_k \rangle (v_k)$  for all  $k \in K$ , we have

$$\begin{aligned} I(\lambda) &\geq I \vee_{k \in K} \mathcal{B}_k(v_k) \text{ (by (S3))} \\ &\geq \wedge_{k \in K} I(g_k^{-1}(v_k)) \\ &\geq \wedge_{k \in K} \langle \mathcal{B}_k \rangle (v_k) \end{aligned}$$

$$\begin{aligned} &\geq \wedge_{k \in K} \mathcal{B}_k(v_k) \\ &> r. \end{aligned}$$

It is a contradiction for the eq. (F). Hence  $I \geq \langle \mathcal{B} \rangle$ .

(3) Necessity of the composition condition is clear since the composition of I-maps is an I-map.

Conversely, suppose  $g : (Y, \Gamma^*) \rightarrow (X, \langle \mathcal{B} \rangle)$  is not an I-map. There exist  $\mu \in I^X$  and  $r \in (0, 1)$  such that

$$\begin{aligned} \langle \mathcal{B} \rangle(\mu) &\geq \wedge_{k \in K} \mathcal{B}_k(v_k) > r \\ r &\in (0, 1) \text{ such that} \end{aligned} \tag{G}$$

$$\langle \mathcal{B} \rangle(\mu) > r > \Gamma^*(g^{-1}\mu).$$

Since the other hand, since for each  $i \in \Gamma$ ,  $g_i \circ g : (Y, \Gamma^*) \rightarrow (X_i, \langle \mathcal{B}_i \rangle)$  is a I-map,

$$\langle \mathcal{B} \rangle(\mu) \geq \wedge_{k \in K} \mathcal{B}_k(v_k) > r.$$

On the other hand, since for each  $i \in \Gamma$ ,  $g_i \circ g : (Y, \Gamma^*) \rightarrow (X_i, \langle \mathcal{B}_i \rangle)$  is a I-map.

$$\langle \mathcal{B}_i \rangle(v_i) \leq \Gamma^*(g^{-1}(g_i^{-1}(v_i))).$$

It follows  $\Gamma^*(g^{-1}(g_k^{-1}(v_k))) \geq \langle \mathcal{B}_k \rangle(v_k)$  for all  $k \in K$ . Since  $g^{-1}(\mu) \leq \vee_{k \in K} g^{-1}(g_k^{-1}(v_k))$ , we have

$$\begin{aligned} \Gamma^*(g^{-1}(\mu)) &\geq \wedge_{k \in K} \Gamma^*(g^{-1}(g_k^{-1}(v_k))) \text{ (by (S3))} \\ &\geq \wedge_{k \in K} \langle \mathcal{B}_k \rangle(v_k) \\ &\geq \wedge_{k \in K} \mathcal{B}_k(v_k) \\ &> r. \end{aligned}$$

It is a contradiction for the eq. (G). Hence  $g$  is an I-map.

(4) Let  $I = \langle \vee_{i \in \Gamma} g_i^{-1}(\langle \mathcal{B}_i \rangle) \rangle$ . Since  $\mathcal{B}_i(\lambda_i) \leq \mathcal{B}(g_i^{-1}(\lambda_i))$ , by Theorem 2.7 (3),  $g_i : (X, \langle \mathcal{B} \rangle) \rightarrow (X_i, \langle \mathcal{B}_i \rangle)$  is an I-map. From (3), the identity map  $id_X : (X, \langle \mathcal{B} \rangle) \rightarrow (X, I)$  is an I-map. Thus,

$$I \leq \langle \mathcal{B} \rangle.$$



From the definition of  $I, \langle \mathcal{B}_i \rangle (\lambda_i) \leq I(g_i^{-1}(\lambda_i))$ , that is,  $g_i: (X, I) \rightarrow (X_i, \langle \mathcal{B}_i \rangle)$  is an I-map. From (2),

$$\langle \mathcal{B} \rangle \leq I.$$

**Theorem 2.11** — Let  $\{I_i\}_{i \in \Gamma}$  a family of smooth ideals on  $X$  satisfying the following condition :

(C) If  $\lambda_i \in (I_i)^0$  for all  $i \in \Gamma$ , then we have  $\bigvee_{i \in K} \lambda_i \neq \bar{1}$  for every finite subset  $K$  of  $\Gamma$ .

We define a function  $\bigvee_{i \in \Gamma} I_i: I^X \rightarrow I$  as

$$\bigvee_{i \in \Gamma} I_i(\mu) = \begin{cases} \sup \{ \bigwedge_{i \in K} I_i(\mu_i) \} & \text{if } \mu = \bigvee_{i \in K} \mu_i, \mu_i \in (I_i)^0, \\ \bar{0} & \text{if otherwise.} \end{cases}$$

where the supremum is taken for every finite subset  $K$  of  $\Gamma$  such that  $\mu = \bigvee_{i \in K} \mu_i$ . Then  $I$  is the coarsest smooth ideal finer than  $I_i$  for each  $i \in \Gamma$ .

PROOF : From Theorem 2.10, put  $(X_i, \mathcal{B}_i) = (X, I_i)$  and  $g_i = id_X$  where  $id_X$  is an identity map for each  $i \in \Gamma$ . Let  $I = \bigvee_{i \in \Gamma} I_i$  be given. We only show that  $I = \langle I \rangle$ . It is trivially show

$$I \leq \langle I \rangle.$$

Suppose that

$$I \not\geq \langle I \rangle. \tag{H}$$

There exist  $v \in I^X$  and  $r \in (0, 1)$  such that

$$I(v) < r < \langle I \rangle(v).$$

Since  $\langle I \rangle(v) > r$ , there exists  $\mu \in I^X$  with  $v \leq \mu$  such that

$$\langle I \rangle(v) \geq I(\mu).$$

By Definition of  $I$ , there exists a finite index set  $K$  with  $\mu = \bigvee_{k \in K} \mu_k$  such that

$$I(\mu) \geq \bigwedge_{k \in K} I_k(\mu_k) > r.$$

On the other hand, since  $v = v \wedge \mu = \bigvee_{k \in K} (v \wedge \mu_k)$ , we have

$$\begin{aligned} I(v) &\geq \bigwedge_{k \in K} I_k(v \wedge \mu_k) \\ &\geq \bigwedge_{k \in K} I_k(\mu_k) \\ &> r. \end{aligned}$$

It is a contradiction for the eq. (H). Hence  $I \geq \langle I \rangle$ .

*Example 2.12* — Let  $X = \{a, b, c, d\}$  be a set. We define a function  $\mathcal{B}: I^X \rightarrow I$  as follows:

$$\mathcal{B}(\lambda) = \begin{cases} 0.5, & \text{if } \lambda = \tilde{0}, \\ 0.4, & \text{if } \lambda \in \{1_{(a)}, 1_{(b)}, 1_{(a,b,c)}\}, \\ 0, & \text{otherwise.} \end{cases}$$

(1) Let  $A = \{a, b, c\}$  be set and  $i_A: A \rightarrow X$  an inclusion map. Since  $i_A^{-1}(1_{(a,b,c)}) = 1_{(a,b,c)}$ , we can not define  $i_A^{-1}(\mathcal{B})$  from the condition (C) of Theorem 2.10.

(2) Let  $B = \{a, b, d\}$  be set and  $i_B: B \rightarrow X$  an inclusion map. We can obtain  $i_B^{-1}(\mathcal{B}): I^B \rightarrow I$  as follows :

$$i_B^{-1}(\mathcal{B})(\mu) = \begin{cases} 0.5, & \text{if } \mu = \tilde{0}, \\ 0.4, & \text{if } \mu \in \{1_{(a)}, 1_{(b)}, 1_{(a,b)}\}, \\ 0, & \text{otherwise.} \end{cases}$$

From Theorem 2.10, we have  $\langle i_B^{-1}(\mathcal{B}) \rangle = \langle i_B^{-1}(\langle \mathcal{B} \rangle) \rangle$  as follows :

$$\langle i_B^{-1}(\mathcal{B}) \rangle(\mu) = \begin{cases} 0.5, & \text{if } \mu = \tilde{0}, \\ 0.4, & \text{if } \tilde{0} < \mu \leq 1_{(a,b)}, \\ 0, & \text{otherwise.} \end{cases}$$

*Example 2.13* — Let  $X = \{a, b, c\}$  and  $Y = \{x, y, z\}$  be sets. We define a function  $I: 2^Y \rightarrow I$  as follows :

$$I(v) = \begin{cases} 1, & \text{if } v = \tilde{0}, \\ \frac{1}{2}, & \text{if } v = x_t, \forall t \in (0, 1] \\ 0, & \text{otherwise.} \end{cases}$$

Then  $I$  is a smooth ideal on  $X$ . Let  $g: X \rightarrow Y$  be a function as follows :

$$g(a) = g(b) = x, g(c) = y.$$

$$g^{-1}(I)(\lambda) = \begin{cases} 1, & \text{if } \lambda = \tilde{0}, \\ \frac{1}{2}, & \text{if } \lambda = t 1_{(a,b)}, t \in (0, 1] \\ 0, & \text{otherwise.} \end{cases}$$

Then  $g^{-1}(I)$  is a smooth base on  $X$ . Since

$$\frac{1}{2} = g^{-1}(I)(1_{(a,b)}) \not\leq g^{-1}(I)(1_{(a)}) = g^{-1}(I)(1_{(b)}) = 0,$$

$g^{-1}(I)$  is not a smooth ideal on  $X$ .

$$\langle g^{-1}(I) \rangle(\lambda) = \begin{cases} 1, & \text{if } \lambda = \bar{0}, \\ \frac{1}{2}, & \text{if } \bar{0} < \lambda \leq 1_{(a,b)}, \\ 0, & \text{otherwise.} \end{cases}$$

Then  $\langle g^{-1}(I) \rangle \neq g^{-1}(I)$ .

**Theorem 2.14** — Let  $\{\mathcal{B}_i\}_{i \in \Gamma}$  a family of smooth ideal bases on  $X_i$ . Let  $X = \prod_{i \in \Gamma} X_i$  be

a product set and  $\pi_i: X \rightarrow X_i$  a projection map, for each  $i \in \Gamma$ . We define a function

$\bigvee_{i \in \Gamma} \pi_i^{-1}(\mathcal{B}_i): I^X \rightarrow I$  as

$$\bigvee_{i \in \Gamma} \pi_i^{-1}(\mathcal{B}_i)(\mu) = \begin{cases} \sup \{ \wedge_{i \in K} \mathcal{B}_i(\mu_i) \} & \text{if } \mu = \wedge_{i \in K} \pi_i^{-1}(\mu_i), \mu_i \in (\mathcal{B}_i)^0, \\ \bar{0} & \text{if otherwise} \end{cases}$$

where the supremum is taken for every finite subset set  $K$  of  $\Gamma$  such that  $\mu = \bigvee_{i \in K} \pi_i^{-1}(\mu_i)$ . Let  $\mathcal{B} = \bigvee_{i \in \Gamma} \pi_i^{-1}(\mathcal{B}_i)$  be given

Then :

(1)  $\langle \mathcal{B} \rangle$  is the coarsest smooth ideal on  $X$  for which each projection map  $\pi_i: (X, \langle \mathcal{B} \rangle) \rightarrow (X_i, \langle \mathcal{B}_i \rangle)$  is an  $I$ -map.

(2) A map  $f: (Y, I) \rightarrow (X, \langle \mathcal{B} \rangle)$  is a  $I$ -map iff for each  $i \in \Gamma$ ,  $\pi_i \circ f: (Y, I) \rightarrow (X_i, \langle \mathcal{B}_i \rangle)$  is a  $I$ -map.

PROOF : From Theorem 2.10, we only show that a family  $\{\mathcal{B}_i\}_{i \in \Gamma}$  satisfies the condition (C).

Let  $v_i \in (\mathcal{B}_i)^0$  for all  $i \in K \subset \Gamma$  and every finite subset set  $K \subset \Gamma$ . Since  $\mathcal{B}_i(v_i) > 0$  for all  $i \in K$ , we have  $v_i \neq \bar{1}$ . For each  $i \in K$ , there exists  $x_i \in X_i$  with  $v_i(x_i) < 1$ . Pick up  $x \in X$  such that  $\pi_i(x) = x_i$  for all  $i \in K$ . Then  $\bigvee_{i \in K} \pi_i^{-1}(\mu_i)(x) = \bigvee_{i \in K} \mu_i(\pi_i(x)) < 1$ . Thus  $\bigvee_{i \in K} \pi_i^{-1}(\mu_i) \neq \bar{1}$ .

From Theorem 2.14, we can define the product smooth ideal space.

*Definition 2.15* — Let  $\{I_i\}_{i \in \Gamma}$  a family of smooth ideals on  $X_i, X = \prod_{i \in \Gamma} X_i$  a product set,

and the function  $\pi_i : X \rightarrow X_i$  a projection map, for each  $i \in \Gamma$ . The structure  $\langle \bigvee_{i \in \Gamma} \pi_i^{-1}(I_i) \rangle$  is called a *product smooth ideal* on  $X$ .

*Example 2.16* — Let  $X = \{a, b\}$  and  $Y = \{x, y\}$  be sets. We define smooth ideals  $I_1 : I^X \rightarrow I$  and  $I_2 : I^X \rightarrow I$  as follows :

$$I_1(v) = \begin{cases} 0.6, & \text{if } v = \vec{0}, \\ 0.4, & \text{if } v = a_p, t \in (0, 1] \\ 0, & \text{otherwise.} \end{cases}$$

$$I_2(v) = \begin{cases} 0.7, & \text{if } v = \vec{0}, \\ 0.3, & \text{if } v = x_s, t \in (0, 1] \\ 0, & \text{otherwise.} \end{cases}$$

Let  $\pi_1 : X \times Y \rightarrow X$  and  $\pi_2 : X \times Y \rightarrow Y$  be projection maps.

We can obtain the product smooth ideal  $I = \pi_1^{-1}(I_1) \vee \pi_2^{-1}(I_2)$  as follows :

$$I(\lambda) = \begin{cases} 0.7, & \text{if } \lambda = \vec{0}, \\ 0.4, & \text{if } \vec{0} < \lambda \leq 1_{(a, x), (a, y)}, \\ 0.3, & \text{if } 1_{(a, x), (a, y)} \not\leq \lambda \leq 1_{(a, x), (a, y), (b, x)}, \\ 0, & \text{otherwise.} \end{cases}$$

### 3. THE IMAGES OF SMOOTH IDEALS

*Theorem 3.1* — Let  $f_i : X_i \rightarrow X$  be a function, for each  $i \in \Gamma$ . Let  $\{I_i\}_{i \in \Gamma}$  a family of smooth ideals on  $X$  satisfying the following condition :

(C) If  $\mu_i \in (I_i)^0$  for all  $i \in \Gamma$ , then we have  $\bigvee_{i \in K} f_i(\mu_i) \neq 1$  for every finite subset  $K$  of  $\Gamma$ .

We define a function  $\bigvee_{i \in \Gamma} f_i(I_i) : I^X \rightarrow I$  as

$$\bigvee_{i \in \Gamma} f_i(I_i(v)) = \begin{cases} \sup \{ \bigwedge_{i \in K} I_i(\mu_i) \} & \text{if } v = \bigvee_{i \in K} f_i(\mu_i), \mu_i \in (I_i)^0, \\ \bar{0} & \text{if otherwise.} \end{cases}$$

where the supremum is taken for every finite subset  $K$  of  $\Gamma$  such that  $v = \bigvee_{i \in K} f_i(\mu_i)$ . Put  $I = \bigvee_{i \in \Gamma} f_i(I_i)$ . Then :

(1)  $I$  is the coarsest smooth ideal on  $X$  for which each function  $f_i : X_i \rightarrow X$  is an  $I$ -preserving map.

(2) A map  $f : (X, I) \rightarrow (Y, \mathcal{H})$  is a  $I$ -preserving map iff for each  $i \in \Gamma$ ,  $f \circ f_i : (X_i, I_i) \rightarrow (Y, \mathcal{H})$  is a  $I$ -preserving map.

PROOF : First, we show that  $I$  is a smooth ideal. Since  $I_i$  is nonzero function, there exists  $\mu_i \in (I_i)^0$  such that  $I(f_i(\mu_i)) \geq I_i(\mu_i) > 0$ .

Thus,  $I$  is nonzero function.

(S1) It is trivial that  $I(\bar{1}) = 0$ .

(S2) Suppose there exist  $v_1, v_2 \in I^Y$  and  $r \in (0, 1)$  such that

$$I(v_1 \vee v_2) < r < I(v_1) \wedge I(v_2). \tag{L}$$

Since  $I(v_1) > r$  and  $I(v_2) > r$ , by definition of  $I$ , there exist two finite subset  $K$  and  $J$  of  $\Gamma$  with  $v_1 = \bigvee_{k \in K} f_k(\lambda_k)$  and  $v_2 = \bigvee_{j \in J} f_j(\mu_j)$  such that

$$I(v_1) \geq \bigwedge_{k \in K} I_k(\lambda_k) > r,$$

$$I(v_2) \geq \bigwedge_{j \in J} I_j(\mu_j) > r.$$

Put  $m \in K \cup J$  such that

$$\rho_m = \begin{cases} \lambda_m & \text{if } m \in K - (K \cap J) \\ \mu_m & \text{if } m \in J - (K \cap J) \\ \lambda_m \vee \mu_m & \text{if } m \in K \cap J. \end{cases}$$

Since  $v_1 \vee v_2 = (\bigvee_{k \in K} f_k(\lambda_k)) \vee (\bigvee_{j \in J} f_j(\mu_j)) = \bigvee_{m \in (K \cup J)} f_m(\rho_m)$ , there exists a finite subset

$K \cup J$  of  $\Gamma$  such that

$$\begin{aligned}
I(v_1 \vee v_2) &\geq (\wedge_{m \in (K \cup J)} I_m(\rho_m)) \\
&\geq (\wedge_{k \in K} I_k(\lambda_k)) \wedge (\wedge_{j \in J} I_j(\mu_j)) \\
&> r.
\end{aligned}$$

It is a contradiction for the eq. (L). Hence,  $I(v_1 \vee v_2) \geq I(v_1) \wedge I(v_2)$ , for all  $v_1, v_2 \in I^Y$ .

Suppose there exist  $\lambda, \mu \in I^X$  with  $\lambda \leq \mu$  and  $r \in (0, 1)$  such that

$$I(\lambda) < r < I(\mu). \quad \dots (M)$$

Since  $I(\mu) > r$ , by definition of  $I$ , there exists a finite subset  $K$  of  $\Gamma$  with  $\mu = \vee_{k \in K} \mu_k$  such that

$$I(\mu) \geq \wedge_{k \in K} I(\mu_k) > r.$$

On the other hand, since  $\lambda = \lambda \wedge \mu = \vee_{k \in K} (\lambda \wedge \mu_k)$ , we have

$$\begin{aligned}
I(\lambda) &\geq \wedge_{k \in K} I_k(\lambda \wedge \mu_k) \\
&\geq \wedge_{k \in K} I_k(\mu_k) \\
&> r.
\end{aligned}$$

It is a contradiction for the eq. (M). Hence, if  $\lambda \leq \mu$ , then  $I(\lambda) \geq I(\mu)$ .

We will show that  $I(f_i(\lambda_i)) \geq I_i(\lambda_i)$  for each  $i \in \Gamma$  from the following :

If  $I_i(\lambda_i) = 0$ , it is trivial.

If  $I_i(\lambda_i) > 0$ , for a one family  $\{\lambda_i \in I_i^0\}$ , we have  $I(f_i(\lambda_i)) \geq I_i(\lambda_i)$ .

If  $f_i : (X_i, I_i) \rightarrow (X, \mathcal{K})$  is an  $I$ -preserving map, that is,  $\mathcal{K}(f_i(\lambda_i)) \geq I_i(\lambda_i)$  for each  $i \in \Gamma$ , we will show that  $\mathcal{K} \geq I$ .

Suppose there exist  $v \in I^X$  and  $r \in (0, 1)$  such that

$$I(v) > r > \mathcal{K}(v). \quad \dots (N)$$

Since  $I(v) > r$ , by definition of  $I$ , there exists a finite index set  $K$  with  $v = \vee_{k \in K} f_k(\lambda_k)$  such that

$$I(v) \geq \wedge_{k \in K} I_k(\lambda_k) > r.$$

On the other hand, since  $\mathcal{K}(f_k(\lambda_k)) \geq I_k(\lambda_k)$  for all  $k \in K$ , we have

$$\begin{aligned} \mathcal{K}(\nu) &\geq \wedge_{k \in K} \mathcal{K}(f_k(\lambda_k)) \text{ (by (S2))} \\ &\geq \wedge_{k \in K} I_k(\lambda_k) > r. \end{aligned}$$

It is a contradiction for the equation (N).

(3) Necessity of the composition condition is clear since the composition of  $I$ -preserving maps is an  $I$ -preserving map.

Conversely, suppose  $f: (X, I) \rightarrow (Y, \mathcal{H})$  is not an  $I$ -preserving map.

Suppose there exist  $\mu \in I^X$  and  $r \in (0, 1)$  such that

$$I(\mu) > r > \mathcal{H}(f(\mu)). \quad \dots (O)$$

Since  $I(\mu) > r$ , by definition of  $I$ , there exists a finite subset  $K$  of  $\Gamma$  with  $\mu = \vee_{k \in K} f_k(\lambda_k)$  such that

$$I(\mu) \geq \wedge_{k \in K} I_k(\lambda_k) > r.$$

On the other hand, since for each  $i \in \Gamma$ ,  $f \circ f_i: (X_i, I_i) \rightarrow (Y, \mathcal{H})$  is a  $I$ -preserving map,

$$I_i(\lambda_i) \leq \mathcal{H}(f(f_i(\lambda_i))).$$

So,  $\mathcal{H}(f(f_k(\lambda_k))) \geq I_k(\lambda_k)$  for all  $k \in K$ . Since  $f(\mu) = \vee_{k \in K} f(f_k(\lambda_k))$ , we have

$$\begin{aligned} \mathcal{H}(f(\mu)) &\geq \wedge_{k \in K} \mathcal{H}(f(f_k(\lambda_k))) \\ &\geq \wedge_{k \in K} I_k(\lambda_k) \\ &> r. \end{aligned}$$

It is a contradiction the eq. (O). Hence,  $f$  is an  $I$ -preserving map.

*Corollary 3.2* — Let  $f_i: X_i \rightarrow X$  be a function, for each  $i \in \Gamma$ . Let  $\{\mathcal{B}_i\}_{i \in \Gamma}$  a family of smooth ideal bases on  $X$  satisfying the following condition :

(C) If  $\mu_i \in (\mathcal{B}_i)^0$  for all  $i \in \Gamma$ , then we have  $\vee_{i \in K} f_i(\mu_i) \neq \bar{1}$  for every finite subset  $K$  of  $\Gamma$ .

We define a function  $\vee_{i \in \Gamma} f_i(\mathcal{B}_i): I^X \rightarrow I$  as

$$\bigvee_{i \in \Gamma} f_i(\mathcal{B}_i)(v) = \begin{cases} \sup \{ \wedge_{i \in K} \mathcal{B}_i(\mu_i) \} & \text{if } v = \bigvee_{i \in K} f_i(\mu_i), \quad \bar{0} \neq \mu_i \in (\mathcal{B}_i)^0, \\ \bar{0} & \text{if otherwise.} \end{cases}$$

where the supremum is taken for every finite subset  $K$  of  $\Gamma$  such that  $v = \bigvee_{i \in K} f_i(\mu_i)$ . Put  $\mathcal{B} = \bigvee_{i \in \Gamma} f_i(\mathcal{B}_i)$ .

Then :

(1)  $\bigvee_{i \in \Gamma} f_i(\mathcal{B}_i)$  is the smooth ideal base on  $X$  for which each function  $\mathcal{B}_i(\lambda_i) \leq \bigvee_{i \in \Gamma} f_i(\mathcal{B}_i)(f_i(\lambda_i))$  for each  $\lambda_i \in I^X$ .

$$(2) \langle \mathcal{B} \rangle = \bigvee_{i \in \Gamma} f_i(\langle \mathcal{B}_i \rangle).$$

(3) A map  $f: (X, \langle \mathcal{B} \rangle) \rightarrow (Y, \mathcal{H})$  is an  $I$ -preserving map iff for each  $i \in \Gamma, f \circ f_i: (X_i, \bigvee \mathcal{B}_i) \rightarrow (Y, \mathcal{H})$  is an  $I$ -preserving map.

PROOF : (1) and (3) are similarly proved from Theorem 3.1,

(2) Let  $I = \bigvee_{i \in \Gamma} f_i(\langle \mathcal{B}_i \rangle)$ . Since  $\mathcal{B}_i(\lambda_i) \leq \mathcal{B}(f_i(\lambda_i))$ , by Theorem 2.7 (4),  $f_i: (X_i, \langle \mathcal{B}_i \rangle) \rightarrow (X, \langle \mathcal{B} \rangle)$  is an  $I$ -preserving map. Since  $id_X \circ f_i: (X_i, \langle \mathcal{B}_i \rangle) \rightarrow (X, \langle \mathcal{B} \rangle)$  is an  $I$ -preseving map, by Theorem 3.1 (2), the identity map  $id_X: (X, I) \rightarrow (X, \langle \mathcal{B} \rangle)$  is an  $I$ -preserving map. Thus,

$$I \leq \langle \mathcal{B} \rangle.$$

We have

$$\left\{ \mu_i \in I^X \mid \mu_i \in \mathcal{B}_i^0 \right\} \subset \left\{ \lambda_i \in I^X \mid \lambda_i \in \langle \mathcal{B}_i \rangle^0 \right\}.$$

Thus,  $I \geq \mathcal{B}$ . From Theorem 2.5, it implies

$$I \geq \langle \mathcal{B} \rangle.$$

Example 3.4 — Let  $X = \{a, b, c\}$  and  $Y = \{x, y\}$  be sets. We define smooth ideal  $I: I^X \rightarrow I$  as follows :

$$I(\lambda) = \begin{cases} 0.6, & \text{if } v = \bar{0} \\ 0.4, & \text{if } \bar{0} \neq \lambda \leq \mu \\ 0, & \text{otherwise} \end{cases}$$



where  $\mu(a) = 0.5, \mu(b) = 1, \mu(c) = 1$ . Let  $f: X \rightarrow Y$  be defined by  $f(a) = x, f(b) = x, f(c) = y$ . Since  $f(\mu)(x) = 1, f(\mu)(y) = 1$ , that is,  $f(\mu) = \bar{1}$ , we cannot define a smooth ideal  $f(I)$  from the condition (C) of Theorem 3.1.

*Example 3.5* — Let  $X = \{a, b, c, d\}$  be a set. We define smooth ideal bases  $\mathcal{B}_i: I^X \rightarrow I$  as follows :

$$\mathcal{B}_1(\lambda) = \begin{cases} 0.5, & \text{if, } \lambda = \bar{0}, \\ 0.4, & \text{if, } \lambda \in \{1_{(a)}, 1_{(b)}, 1_{(a,b,c)}\}, \\ 0, & \text{otherwise.} \end{cases}$$

$$\mathcal{B}_2(\mu) = \begin{cases} 0.6, & \text{if, } \mu = \bar{0}, \\ 0.3, & \text{if, } \mu \in \{1_{(c)}, 1_{(b)}, 1_{(a,b,c)}\}, \\ 0, & \text{otherwise.} \end{cases}$$

$$\mathcal{B}_3(\mu) = \begin{cases} 0.6, & \text{if, } \mu = \bar{0}, \\ 0.3, & \text{if, } \mu \in \{1_{(c)}, 1_{(b)}, 1_{(a,b,d)}\}, \\ 0, & \text{otherwise.} \end{cases}$$

We obtain,

$$\langle \mathcal{B}_1 \rangle(\lambda) = \begin{cases} 0.5, & \text{if, } \lambda = \bar{0}, \\ 0.4, & \text{if, } \bar{0} < \lambda \leq 1_{(a,b,c)}, \\ 0, & \text{otherwise.} \end{cases}$$

$$\langle \mathcal{B}_2 \rangle(\mu) = \begin{cases} 0.6, & \text{if, } \lambda = \bar{0}, \\ 0.3, & \text{if, } \bar{0} < \mu \leq 1_{(a,b,c)}, \\ 0, & \text{otherwise.} \end{cases}$$

Let  $id_X: X \rightarrow X$  be an identity function. We cannot define  $id_X(\mathcal{B})_1 \vee id_X(\mathcal{B})_2$  because

$$1_{(a,b,d)} \vee = 1_X.$$

We have :

$$id_X(\mathcal{B}_1) \vee id_X(\mathcal{B}_2)(\mu) = \begin{cases} 0.6, & \text{if, } \mu = \tilde{0}, \\ 0.4, & \text{if, } \mu \in \{1_{(a)}, 1_{(b)}, 1_{(a,b,c)}\} \\ 0.3, & \text{if, } \mu \in \{1_{(c)}, 1_{(b,c)}, 1_{(a,c)}, 1_{(a,b)}\}, \\ 0, & \text{otherwise.} \end{cases}$$

$$\langle id_X(\mathcal{B}_1) \vee id_X(\mathcal{B}_2) \rangle(\mu) = \begin{cases} 0.6, & \text{if, } \mu = \tilde{0}, \\ 0.4, & \text{if, } \tilde{0} < \mu \leq 1_{(a,b,c)}, \\ 0, & \text{otherwise.} \end{cases}$$

Thus  $\langle id_X(\mathcal{B}_1) \vee id_X(\mathcal{B}_2) \rangle = id_X(\langle \mathcal{B}_1 \rangle) \vee id_X(\langle \mathcal{B}_2 \rangle)$ .

#### REFERENCES

1. M. H. Burton, M. Muraleetharan and J. Gutierrez Garcia, *Fuzzy Set. Syst.* **106** (1999) 275-84.
2. M. H. Burton, M. Muraleetharan and J. Gutierrez Garcia, *Fuzzy Set. Syst.* **106** (1999) 393-400.
3. C. L. Chang, *J. Math. Anal. Appl.* **24** (1968) 182-90.
4. W. Gähler, *Fuzzy Set. Syst.* **76** (1995) 205-24.
5. W. Gähler, *Fussy Set Syst.* **76** (1995) 225-46.
6. U. Höhle and A. P. Sostak, *Mathematics of fuzzy ses, Logic, Topology and Measure Theory*, Handbook of Fuzzy Series, Kluwer Academic Publisher Dordrecht Boston, 1999.
7. Liu Ying-Ming and Luo Mao-Kang, *Fuzzy Topology*, World Scientific Publishing Co., Singapore, 1997.
8. A. A. Ramadan, *Smooth filter structures*, *J. Fuzzy Math.*, **5(2)** (1997) 297-308.
9. A. A. Ramadan, M. A. Abdel-Sattar and M. K. El Gayyar, *Smooth L-ideal*, *Quaestiones Mathematicae* (to appear).
10. L. A. Zadeh, *Inform. Control* **8** (1965) 338-53.